Chapter 13
Class-Age Structured Epidemic Models

13.1 Variability of Infectivity with Time-Since-Infection

Many diseases progress quickly. Once infected, an individual goes through a short
incubation period and becomes infectious. In a matter of days, this individual has
either recovered or is dead. That is the case with influenza, which many have expe-
rienced. Other diseases with short span are SARS, meningitis, plague, and many of
the childhood diseases. We will call such diseases quickly progressive diseases. See
Table 13.1 for a more extensive list of quickly progressive diseases. In modeling
such diseases, it is acceptable to ignore host vital dynamics and to assume that the
infectivity of infectious individuals is constant throughout their infectious period.

Other diseases infect their hosts for a long time, sometimes for the duration of the
lifespan of the host. Examples of such diseases include HIV/AIDS, tuberculosis, and
hepatitis C. These diseases necessarily include a long-term latent or chronic stage.
Such diseases are called slowly progressive diseases. Table 13.1 contains a list of
slowly progressive diseases. Models of slowly progressive diseases should include
host demography.

Evidence exists that the infectivity, that is, the probability of infection, given a
contact, may vary in time since the moment at which the infectious individual has
become infected. This variability exists with fast diseases but is far more important
with slow diseases. Infectivity for several common diseases is plotted in Fig. 13.1.
The problem of variability of infectivity with time-since-infection has been studied
most extensively in HIV. The California Partners’ Study examined 212 females hav-
ing regular sexual contacts with their HIV-infected male partners. Couples were fol-
lowed for different durations (duration of exposure) up to 100 months. All partners
were already infected before the contact began. Only about 20% of the females were
eventually infected. Shiboski and Jewell [145] use the data to estimate a time-since-
infection-dependent infectivity. No explicit form of the function is given. Generally,
it is accepted that the viral load in HIV-infected patients is correlated with their in-
fectivity. Since the viral load is high right after infection, and then during the time
when AIDS develops, the infectivity is assumed to be higher for those two periods,
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Table 13.1 Slow and fast diseases

Slow diseases Length of infection Fast diseases Length of infection
HIV/AIDS Lifelong Influenza 2-10 days
Hepatitis C Lifelong?® Measles 10-12 days
Tuberculosis Lifelong?® Mumps 12-25 days
Genital herpes Lifelong Rubella 3-4 weeks
Hepatitis B Lifelong Chicken pox 17-30 days
Cervical cancer (HPV) Lifelong Dengue fever 10-30 days
Malaria 200* days Ebola 3-6 weeks
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Fig. 13.1 Infectivity for the fast disease influenza [35] and the slow disease HIV [42]

and generally lower during the latent stage of the infection. Shiboski and Jewell’s
functions do not possess these properties, presumably because infected individuals
were already past their acute stage when they were enrolled in the study. Shiboski
and Jewell’s functions first increase from 0 to 40 months after infection, and then
rapidly decrease, so that they are nearly zero at 90 months after infection.

In fact, the very first epidemic model developed by Kermack and McKendrick
[84] structures the infected individuals by the time-since-infection (also called age
of infection). Kermack and McKendrick’s motivation for inclusion of infection-age
was not only that infectivity may change with infection-age but also that the pos-
sibility of recovery or death may depend on the time elapsed since infection. In
modeling with ODEzs, it is implicitly assumed that the time to recovery or death
is exponentially distributed. This assumption may be weakened if infection-age is
incorporated into the model. Although Kermack-McKendrick’s age-since-infection
model did not include birth and natural death in the population, more recent age-
since-infection models of slowly progressive diseases include demography.
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13.2 Time-Since-Infection Structured SIR Model

In this section, we consider a continuous version of the Kermack—McKendrick time-
since-infection structured model. Because mass action incidence is used, the model
can be used to describe diseases such as influenza and childhood diseases, but it is
not suitable for HIV.

13.2.1 Derivation of the Time-Since-Infection Structured Model

Since infectivity for infectious individuals varies with the time since infection (see
Fig. 13.1), we must keep track of the time that has elapsed since infection for each
infected individual. Let 7 denote the time-since-infection. The time-since-infection
begins when an individual becomes infected and progresses with the chronological
time 7. Let i(0,¢) denote the number of individuals who have just become infected
at time ¢. All individuals who become simultaneously infected make up one disease
“cohort,” that is, they have experienced the same life event together, namely getting
infected with the disease. As time progresses, this group of people has the same
time-since-infection 7. Let i(7,¢) be the density of infected individuals with time-
since-infection T at time ¢. The fact that i(7,¢) is a density means that i(7,/)AT
is the number of individuals with time-since-infection in the interval (7,7 + AT).
Suppose that time Az elapses. Then the same group of individuals who at time ¢ had
time-since-infection in the interval (7,7 + A7), now at time 7 + A have time-since
infection in the interval (74 At, T+ AT+ At). The number of those individuals is
given by i(T+At,t+ At)At. Adding all individuals in all infection-age classes gives
the total infected population:

1) = /0 T i(n.)dr.

Since this is the same group of individuals, their numbers might have changed in
the interval (¢,7 4+ At) as a result of two possible events: some of them might have
recovered, and other might have left the system due to natural causes (e.g., death).
We assume that the lifespan of individuals in the system is exponentially distributed,
and equal for susceptible, infected, and recovered individuals. Thus, susceptible,
infected, and recovered individuals leave the system at a constant rate. Denote by
U the per capita rate at which individuals leave the system. The number of infected
individuals who leave the system in the time interval (¢,¢ 4 At) is given by

uAti(t,1)At,

where i(7,7)A7 is the number of people in the age interval (7,7 + A1), and
Wwi(t,1)A7 is the number of people in that age interval who leave the system at time
t. To model the number of individuals who recover in the time interval (z,7 + Ar),
we denote the per capita recovery rate by y. We will assume that the recovery rate
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depends on the time-since-infection 7: ¥(7). Following a similar line of reasoning
as in the case with the number of individuals who leave the system, the number of
individuals who recover from this cohort of infecteds is given by

y(7)Ati(t,1)AT.

The balance equation for the change in the number of infected individuals in this
cohort is given by

i(T+At,t+At)AT—i(1,0)AT = —y(T)Ati(T,1) AT — UAL(T,1)AT.
Dividing by AtA¢, we obtain

i(T+At,t 4+ Ar) —i(1,1)
At

= —Y(D)i(t,0) — pi(7,1). (13.1)
We rewrite the left-hand side above as

i(T+At,t+At) —i(t, 1+ Ar)  i(t,t +At) —i(1,1)
+
At At

= —y(1)i(t,t) — pi(t,1).
(13.2)

We take the limit as At — 0. If the partial derivatives of the function i exist and are
continuous, we can rewrite the equation above in the form

ir(T,0) +i(1,8) = —y(1)i(7,1) — ni(t,1). (13.3)

This is a first-order partial differential equation. It is linear. It is defined on the
domain

2 ={(1,1): 7> 0, > 0}.

To complete the partial differential equation, we must derive a boundary condition
along the boundary 7 = 0 and an initial condition.

To derive the boundary condition, let S(¢) be the number of susceptible individ-
uals at time #, R(¢) the number of recovered individuals, and N(¢) the total popula-
tion size:

N(E) = S(t) + /0 "i(n,1)dT+R(1).

The newly infected individuals have time-since-infection equal to zero and their
number is given by i(0,¢). To derive the expression for newly infected individu-
als, we let B(7)N be the infectivity of the infectious individuals, where N is the
total population. The infectivity depends on the time-since-infection 7 that has
elapsed for the infecting individual. It is assumed that infectious individuals have
different infectivities at different times-since-infection. This is the case with most
infectious diseases. The probability that an infectious individual with time-since-
infection equal to 7 will come in a contact with a susceptible individual, given that

y

the individual makes a contact, is ~- Thus, this infectious individual with time-

since-infection equal to 7 will transmit the disease to
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S
BN =B(0)S

individuals. Since there are i(7,¢)A 7 infectious individuals with time-since-infection
in the interval (7,7 + A7), the total number of infections generated by such infec-
tious individuals will be

B(1)Si(t,t)AT.

Adding all newly infected individuals generated by all infected individuals in all
time-since-infection classes, we get

i0,1) = S./Owﬁ(r)z(r 1 dt

This incidence is the equivalent of mass action incidence in the ODE case. This
equation gives the boundary condition of the partial differential equation. To derive
the equation that gives the dynamics of the susceptible individuals, we assume that
the recruitment into the population occurs at a constant rate A. Thus, the equation
becomes

=A- S/ﬁ i(t,0)dt—usS(t).

Finally, the equation for the recovered individuals has as an inflow the total number
of recovered individuals summed by all age-since-infection classes:

(1) = /O W (0)i(T,1)dT — pR(D).

The susceptible, infected, and recovered populations make up the total popula-
tion. The equations for the susceptible, infected, and recovered populations define a
closed system of equations, which we will consider in itself:

S't)y=A—-S(t /[3 i(t,0)dt — uS(t),
ir(T,0) + i (7,1) = =Y(7)i(7,1) — pi(7,1),
(13.4)
/ B(1)i(t,t)dt,

_ /0 Y(0)i(z,1)dT — uR(r).

The model is equipped with the following initial conditions:

S(0) = So,

R(0) = Ry, (13.5)
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where Sy and Ry are given numbers, and io(7) is a given function that is assumed
integrable. We note that

Ny = SoJr/ io(T)dT+Rp.
0

(7T

Probability of survival
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Fig. 13.2 A typical probability of survival in a class

Model (13.4) together with the initial conditions (13.5) is the time-since-infection
structured Kermack—McKendrick SIR epidemic model.

Remark 13.1. Typically, the infectivity §(7) is assumed to be a bounded function:

B =sgpﬁ(f)-

A key quantity related to the survival of infectious individuals in a given class is
7(7), the probability of still being infectious T time units after becoming infected.
Then, if { individuals become infected at some moment of time, the number of those
who are still infectious after 7 time units is /7(7). Those numbers change in a small
interval of time-since-infection A7 by those who have stopped being infectious or
those who have left the system:

In(t+At)—In(t) = —uin(t)At—y(t)in(1)AT.

The probability of still being infectious 7 time units after becoming infected/infec-
tious, 7 (1), satisfies the following differential equation:

(1) = —un(7) - y(1)7(7),
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whose solution is
n'(r) — ei.urif()r ’J/(S)ds.

Different assumptions on y(7) correspond to different real-life scenarios. If all
infected individuals are assumed to recover or leave the infectious class by certain
age-since-infection 7, their probability () of still being infectious, that is, of being
in the class i, 7 time units after becoming infected/infectious must tend to zero as
T — 7. This will occur if the function y(7) tends to e as T — 7. Thus, we may
assume that

Y(T) = o0 as T—=T, y(7)=0 for T>T.

A simple example of a possible function y(7) that tends to infinity is given by

0.27
M=

The corresponding probability of survival in the infectious class when u = 0 is
given by
0.27
n(f) —e T—T

This probability of survival is graphed in Fig. 13.2 with T = 15. The coefficient 0.2
is used to give the typical shape of the graph characterized by slow decrease for
small 7 and fast decrease for 7 ~ 7.

13.2.2 Equilibria and Reproduction Number
of the Time-Since-Infection SIR Model

The model (13.4) is a first-order integrodifferential equation model. We would like
to be able to say something about the solutions. Could a reproduction number % be
defined such that the disease dies out if Zy < 1 and persists otherwise? First, one has
to show that for each nonnegative and integrable initial condition (13.5), the model
has a unique nonnegative solution. This result is not obvious, but the derivation is
somewhat technical and will not be included. Next, we would like to see that the
solutions are bounded. To see this, we must obtain the differential equation satisfied
by the total population size. Integrating with respect to 7 the PDE in system (13.4),
we obtain

i)l +1 == [ vmie.ndr—ui),

where I’ above is the derivative of the total infected population size I with respect
to ¢. If we assume lim;_,..i(7,#) = 0, the above equality leads to

() = S(1) /0 " B()i(r,1)dr— | /0 " (D)i(T,0)dT— (7).
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Adding the equation above to the equations for " and R’ from (13.4), we obtain
S+I'+R =A—u(S+I1+R).

Thus, the total population size satisfies the usual equation, whose solution we know.
In particular, we know that

A
max N (r) < max {No7 IJ} .

Now we consider equilibria of the model. As before, to find the equilibria, we
look for time-independent solutions (S,i(7)) that satisfy the system (13.4) with the
time derivatives equal to zero. The system for the equilibria takes the form

A —S/:ﬁ(r)i(r)dr—uS:O,
ir(1) = =y(7)i(7) — ui(1),

i((?j :S/:B(r)i(r) dr,

/0 y(7)i(t)dt—uR =0.

(13.6)

This system consists of one first-order ODE with initial condition that depends
on the solution, and two algebraic equations. Clearly, & = (%7070) is one solution
of that system. This solution gives the disease-free equilibrium, where the age-since-
infection distribution of infectious individuals is identically zero. The disease-free
equilibrium always exists. An endemic equilibrium will be given by a nontrivial
solution &* = (S,i(7),R).

There is a typical approach for solving such systems. We first solve the differen-
tial equation whose solution is

i(t) = i(0)m (7). (13.7)

This is not an explicit solution, since i(0) depends on i(7). The following notation
is useful:

P= / 7(0)d6.
0
This notation occurs when we compute the total infectious population:
1=i(0)P.

The usual approach to solving the system (13.6) is to substitute the expression for
i(7) from (13.7) in the boundary condition and the total population size. We typ-
ically obtain a system for i(0) and S. However, in this case, when we substitute
i(7) in the boundary condition, we obtain an explicit expression for the susceptible
individuals in the endemic equilibrium:
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1
S=——"""". (13.8)
[ Bor@ar
0
From the third equation in (13.6), we can express R in terms of i(0):
R:EEQ/ (o) = Or (13.9)
u Jo u

We note that I' is a given number. To find i(0), we use the first equation in (13.6),
which becomes
A—i(0)—uS=0.

Substituting S, we obtain

L 1
i(0) = A (1—%>, (13.10)

where we have defined the basic reproduction number as

T — % /O " B(e)n(1)dx.

From the above expressions, we see that the endemic equilibrium is unique and
exists if and only if Zy > 1.

Remark 13.2. We notice that integration by parts gives the following identity:

/wy(r)n(r)dr+y/mn(r)dr: 1,
0 0

which makes each term on the left-hand side less than one. The equation above
says that the probability of leaving the infectious class i through leaving the system
(dying), u [y m(t)dz, or through recovery, [, y(t)m(7)d7, is equal to 1. Indeed,
all individuals leave the infectious class through one of those two routes.

13.2.3 Local Stability of Equilibria

To investigate the local stability of the equilibria, we need to linearize the system.
For a PDE model, that is done directly following the underlying linearization proce-
dure. In particular, let S(¢) = S* +x(¢), i(t,t) = i* () +y(7,t) and R(t) = R* +z(¢),
where x(t), y(7,t), and z(¢) are the perturbations, and (S*,i*(7),R*) denotes a
generic equilibrium. We substitute the expressions for S, i(7,7), and R in the sys-
tem (13.4):
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(S*+x(1)) =A —(S"+x(r) / B(7)(i*(7)+y(t,1))dT— u(S* +x(1)),
(1) +y(7,0))c+ (I (1) +¥(7,0)): = V(T)(i (1) +y(7,2)) = (i (7) +¥(7,1)),
(0) +y(0,1) = (8* Jr%(t))/0 B()(i* (1) +y(z,1))d7,
(R +2(0))' = [ 7@ (3)+y(m0)de— (R +2(0).
' (13.11)
Multiplying out the expressions, we have
=A- S*/ B(7)i*(t)dt — uS* —x(r) / B(r
/ B(t)y(t,t)dt—x(t /0 B(t)y(t,1)dt — ux(t),
i7(1) +y2(7,0) +3:(7,0) = =¥(0)i* () = Y(O)y(7,1) — i () — py(7,1),
i*(0) +y(0,1) / B(t d‘H—x(t)/O B(0)i

(1)dt
/ B(0)y(t,1) )dr—&—x(t)/:ﬁ(r)y(r,t)dr.

:/0 ¥(7) dr+/ y(T)y(t,1)dT — UR" — uz(t).

(13.12)

This system can be simplified further by the use of two techniques. First,
we use the equations for the equilibria (13.6). This approach simplifies the system

to
1) =—(0) | Blo) (n)de

-5 [ Blen(raar—x) | Boy(r.nde—pux).
0 0
ye(T,0) +yi(7,1) = =y(0)y(7,1) — uy(7,1),

- (13.13)
y(0.0) =2(1) | By (nyde
5" / BEp(rn)dex) [ By,
/ y(7)y(t,t)dT — uz(t).

Notice that after this transformation, system (13.13) contains only terms that include
a perturbation. However, system (13.13) is not linear. Terms such as x(¢) f,” B(7)
y(t,t)d7 are quadratic in the perturbations. Since we assume that the perturbations
are small, the quadratic terms must be much smaller. Therefore, the second tech-
nique that we use to simplify the system is to neglect the quadratic terms. After
disregarding the quadratic terms, we obtain the following linear system in the per-
turbations:
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X(0)=—x(t) [ B ()ar—5" [ Ble(r.o)dr—ps(),
Ve(T.) +3i(0.0) = y()( ) — fiy(1,1),
3(0,1) = x(t /B dH—S*/ B(t)y(1,1))d,

/y (t,0)dt — uz(r).

(13.14)

System (13.14) is a linear system for x(¢), y(7,t), and z(¢). Just like linear systems
of ODEs, the above system also has exponential solutions. Therefore, it is sensible
to look for solutions of the form x(t) = ¥e*, y(1,1) = y(1)e*, z(t) = ze, where &,
¥(7), Z, and A have to be determined in such a way that %, y(7), Z are not all zero.
Substituting the constitutive form of the solutions in the system (13.14), we obtain
the following problem for %, (), Z, and A (the bars have been omitted):

lx:—x/o B(t)i*(t)dt — S*/ B(t)y(t)dr — ux,
ye(7) +Ay(1) = }’( y(t) —py(t ),

—x/ B(t dr—irS*/ B(t)y(t)dx,
M—/O Y(Oy(R)dT— iz,

(13.15)

Remark 13.3. Solutions of system (13.15) give the eigenvectors and eigenvalues A
of the differential operator. Eigenvalues are the only points in the spectrum of ope-
rators generated by ODEs. However, operators that originate from PDEs may have
other points in the spectrum besides eigenvalues, which also contribute to the sta-
bility or instability of an equilibrium. It can be shown [112] that for the problems of
type (13.4), knowing the distribution of the eigenvalues is sufficient to determine the
stability of a given equilibrium. In other words, we have the same rules that are used
in ODE:s. In particular, if all eigenvalues have negative real parts, the corresponding
equilibrium is locally stable; if there is an eigenvalue with a positive real part, then
the equilibrium is unstable. Because of that, we will concentrate on investigating
eigenvalues.

The next step will be to eliminate x, y(7), and z so that an equation in A is obtained.

This process is different for the different equilibria, so we have to consider two

cases. The first case is that of the disease-free equilibrium. Then S* = H’ i*=0, and
= 0. System (13.15) simplifies to the following system:

/ B(t)y(r)dt — ux,
ye(T) +Ay(t Y(T) (1) — uy(1),
13.16
-5 / Bn(Dar, e
- 0
Az= / H(D)y(t)dT — piz.
0
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It is easy to see that the equation for y(7) is independent of x and z. Solving the
differential equation, we have

(1) = y(0)e 7 n(7).

Substituting this solution in the boundary condition and canceling y(0) (assumed
nonzero), we obtain the following characteristic equation for A:

5* /mﬁ(r)e’“n(r)dr —1. (13.17)
0

The above equation is a transcendental equation, and it may have many solutions.
To show stability of the disease-free equilibrium, we need to show that all solutions
A of the above equation have negative real parts. If there is a solution A with positive
real part, then the disease-free equilibrium will be unstable. To investigate this, we
define

G() =5 /Om[}(r)e’“n(r)dr.

We first notice that ¢4(0) = %Zy. Hence, if %y > 1, and if B(7) is strictly positive
on a positive interval, then the function ¢4(1) as a function of the real variable A
is a decreasing function. Since ¢4(0) > 1 and lim; ,..G(4) = 0, there exists A* >
0 such that ¢(A*) = 1. Consequently, the disease-free equilibrium is unstable. If,
alternatively, % < 1, then for all A = a + bi with a > 0, we have
|9(1)] < S / B(1)le**|n(1)dT = S5* / B(t)e “r(t)dT < Ko < 1.
Jo Jo

We conclude that those A whose real part is nonnegative cannot satisfy the equation
% (ML) = 1. Therefore, the disease-free equilibrium is locally asymptotically stable
in this case. We summarize these results in the following proposition:

Proposition 13.1. If %y < 1, the disease-free equilibrium is locally stable. If
Ko > 1, then the disease-free equilibrium is unstable.

We see that we obtain similar results as for ODE epidemiological models.

Now we turn to the stability of the endemic equilibrium. We consider system
(13.15), where the equilibrium is the endemic equilibrium. The goal again is to
eliminate x, y(7), and z, but this time the first and the second equations are coupled.
We can neglect the equation for z, since z does not participate in the first two equa-
tions. Because the differential equation depends on y and A only, we can solve it and
replace y(T) by its expression in the boundary condition and in the equation for x.
That will produce a linear system for the numbers y(0) and x (assuming that A is
given). Namely, solving the differential equation, we get

(1) = y(0)e T n(7).
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From the first equation and the boundary equation, we obtain the system

=—x/ B(OI"(x)dT=5'5(0) [ B(x)e* m(z)dT—px,

_x/ B(7)i* (t)dT +S*y( //3 “n(7)dr. (1319

There are many ways to solve this system in order to find a nontrivial solution. One
way is to require that the determinant be zero:

?L—HH—/wﬁ (1) dt */“’B Aon(1)de
/B 7)dt 1_5*/ B(t)e * n(t)dr =0. (1319

Adding the second row to the first, we obtain

A+u
=0. (13.20)

1
- / TBo)it(r)dr 1—S / " B(t)e A r(t)dr
0 0

We notice that / B(7)i*(7)dt is just a positive number. We denote that positive

number by B. Expanding the determinant, we have

(A+p)(1—5° /:ﬁ(r)e—“n(r)dr) +B=0.

The general idea is to rewrite this equation so that there are positive terms on both
sides of the equation. In this case, a useful form for the characteristic equation of
the endemic equilibrium is

AtHFE / B(1)e *r(t)dr. (13.21)

CA4u

Now we will show that this equation cannot have solutions A with positive real part.
Let A = a+ bi, and assume a > 0. Taking the absolute value of both sides of the
above equality, we have

‘),—HH-B‘ _ V(@+u+B)+b°
A+u (a+p)2+b2

On the other hand, for a > 0 we have
5* / B(v)e *r(t)dt| < §* / B(7)|e > |n(7)dT
0 0

<s /:ﬁ(r)e‘”n(r) dt

<5 /wﬁ(r)n(r)dﬂc: 1. (13.22)
0
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This means that for A with nonnegative real part, the left-hand side remains strictly
greater than one, while the right-hand side is strictly less than one. Thus, such A’s
cannot satisfy the characteristic equation (13.21). We conclude that the endemic
equilibrium is locally asymptotically stable.

Stability for the endemic equilibrium in age-since-infection structured models is
a rare event. It has been established that infection-age can destabilize the endemic
equilibrium in a simple SI model of HIV [153]. The main differences of the HIV
model from model (13.4) is that there is no recovery and that the incidence must be
a standard incidence, since sexual contacts do not increase linearly with the popula-
tion size.

13.3 Influenza Model Structured with Time-Since-Recovery

Besides the infectious class, other classes could be structured by the duration of
residence in the class or class-age. This is necessary particularly when parameters
describing the class may vary with the time individuals spend in the class.

13.3.1 Equilibria of the Time-Since-Recovery Model

To be more specific, let us consider again influenza. Instead of structuring the infec-
tious class with time-since-infection, it may be more realistic to consider structuring
the recovered class with time-since-recovery. Influenza strains are believed to im-
part permanent immunity to themselves and partial immunity to related influenza
strains. Because the makeup of influenza strains that circulate in the population
continuously changes, a recovered individual has an increasing probability of con-
tracting influenza again. Our goal with this model is to present an example of a
different class structure, as well as the fact that the endemic equilibrium does not
necessarily needs to be locally stable.

To introduce the model, we have classes of susceptible individuals S(z) who have
never had influenza, infected individuals /(¢), and recovered individuals whose den-
sity is structured with time-since-recovery, r(7,¢). The model, first introduced in
[154], is given below:

S'(t) = A — BSI— S,
I'(t) = BSI—{—I/OOO y()r(t,t)dt — (U + ),

re+re = —y(0)Ir(t,t) — ur(z,1),
+0,1) = al. (13.23)

This model is structured by time-since-recovery. The newly recovered individuals
al move into the recovery class with age-since-recovery equal to zero, that is, they
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give the boundary condition of the PDE. Recovered individuals can become infected
at a rate (7). Realistically, we may expect that y(7) is an increasing function of 7.
The model is augmented with the following initial conditions:

5(0) = So,
1(0) = I,
r(7,0) = ¢(7). (13.24)

We define the probability of survival in the recovered class:

(1) = e 1 Jo 1(0)do ot

To determine the equilibria, we set the time derivatives equal to zero. We have to
solve the following system:

A —BSI—puS =0,
BSI+1 /O T W) () dT— (u+ o)l = O,
re = —y(0)Ir(t) — ur(7),
r(0) = ol. (13.25)

Solving the differential equation, we obtain an expression for r(7) in terms of the
number of infected /:

r(t) = on(T).
In addition, we express S in terms of / from the first equation:

A
S= .
BI+p

Substituting in the second equation, we obtain an equation for /:

BAI
BI+p

—&—oc]z/wy(f)n(r)df—(u—Hx)I:O. (13.26)
0

This equation clearly has the disease-free equilibrium & = (%,0,0). To find the
endemic equilibria, we can cancel one [ and obtain the following equation for I # 0:

ot van [ ar= G+ o) (1327

We define the basic reproduction number

BA

_. 13.28
p(o+p) (13:28)

Ry =
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Proposition 13.2. Assume %o > 1. Then Eq. (13.27) has at least one positive solu-
tion.

Proof. Integration by parts shows that

I/Om}/(r)n(r)dr: l—u/own(r)dr.

Hence,

lim/ [ y(t)m(t)dT=1.
I—e Jo
We denote the left-hand side of (13.27) by f(I). We have f(0) = BTA Hence, since

Ho > 1, we have f(0) > p+ o. On the other hand, we have lim;_,.. f(I) = ot <
o+ . This shows that the equation f(I) = o + u has at least one solution. O

It is biologically reasonable to assume that the reinfection rate y(7) is a bounded
function and that its supremum does not exceed f3:

supy(7) < B. (13.29)

Under this condition, Thieme and Yang [154] showed that the endemic equilibrium
&* = (8*,I*,r*(7)) is unique. This equilibrium cannot be explicitly computed. If
condition (13.29) is not satisfied, then backward bifurcation may occur, and multiple
endemic equilibria are possible (see Problem 13.2).

13.3.2 Stability of Equilibria

In this subsection, we investigate the stability of the equilibria. We will concen-
trate primarily on the unique endemic equilibrium in the case that condition (13.29)
holds. As before, we start from linearizing system (13.23). Let (S*,I*,r*) denote a
generic equilibrium. We set S = S* +x(¢), I =I" +y(t), and r(7,1) = r* (1) +2(7,1).
Substituting in the equations of (13.23), we obtain

(8" +x)(1) = A = B(S"+x)(I" +y) — u(S" +x),
(I +y)(t) = ﬁ(S*+X)(I*+y)+(I*+y)/O Y(T) (" +a(t,1)dr— (n+a) (" +y),

(" +2)r+z = —y(O)I" +y)(r(7) +2(t,1)) —u(r +z(7,1)),
r*(0) +2(0,1) = o(I" +y). (13.30)

Multiplying out and using the equations for the equilibria (13.25), we obtain the
following system:
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X (1) = —BS"y—BI'x — Bxy — ux,
Y (6) = BS'y+ BI'a+ B+ 1" [ y@)z(e.ndrey [ yor(z)ar

+y/ 1) dT— (U+ )y,

Zrtz = yr( ) ’}/(‘L')I*Z(T,t)—’]/(T)yZ(T,t),—/.LZ(‘L'J),
z(0,1) = ay. (13.31)

We also neglect the quadratic terms in the perturbations x, y, and z to obtain the
following linear system in the perturbations:

X(t)= —ﬁS*y—ﬁI*x—/.on,o _
V(1) = BSTy+ Brx+ I /0 Y(0)2(t,1) dr+y /0 Y(0)r (£ dt — (1 + @)y,

2tz = =Y(0)yr* (1) = Y(0)"2(7,1) — pz(7,1),
2(0,1) = ay.
(13.32)

This is our linear system for the perturbations. To investigate the local stability of
the equilibria, we have to study the solutions of this system. As before, we ex-
pect that the solutions are exponential. Therefore, we look for solutions of the form
x(t) = xeM, y(t) = ye*, z(t,t) = 7(7)e*. We obtain the following linear eigenvalue
problem for %, 7, and Z(7), and the eigenvalue A:

x=—BSy—BI'x— ux,
Ay = BS*y+BIx+1" /0 Y1)2(1)dT+y /0 YO (1) dT— (4 + )y,

ze+Az = =y(1)yr' (1) — Y(0)"2(7) — pz(7),
2(0) = ay, (13.33)

where in the above, we have dropped the bars. To investigate the stability of the
disease-free equilibrium, we have to write the above system for that equilibrium.
This will simplify that system significantly:

Ax = —BS*y — ux,
Ay = BSy—(U+a)y,
Zr+ lZ = 7.LLZ(T7I)3
2(0) = ay. (13.34)

Problem 13.3 asks you to determine the stability of the disease-free equilibrium.
Use the above system to answer Problem 13.3.

Here, we assume that condition (13.29) holds, and we continue with the inves-
tigation of the unique endemic equilibrium. The next step will be to solve system
(13.33) and derive the characteristic equation. A typical way in which this can be
done is to solve an ordinary differential equation and express z in terms of y. Then
from the first equation, we can express x in terms of y. Then we may substitute the
expressions for z and x in the second equation. We will obtain an equation in y only.
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Since we are looking for a nontrivial eigenvector, we assume that y is not zero and
we cancel it. We obtain an equation in A that constitutes the characteristic equation.

To carry out this plan, we begin by solving the differential equation. The ODE
is a first-order linear ODE with nonzero right-hand side. We move the terms that
depend on z to the left-hand side and the terms that do not depend on z to the right-
hand side. We multiply by the integrating factor e(* TH)T+/ Jo ¥(0)do The differential
equation becomes

AT [§ y(c)dcz]/ _ _Y(T)yr*(f)e(l+u)f+l* Ig ¥(o)do

Integrating both sides of this equation from 0 to T and recalling that z(0) = cty, we
have

(1) = aye AT Ao _ / Y(s ~(+m)(=5)—T" [F y(o)do g

This gives an expression for z in terms of y. This equation can be rewritten also in
the form

(1) = aye 0T I ffy(o / Y(s)e )

From the first equation in system (13.33), we have
_ Bsy
A+Br +pu

From the second equation in system (13.33), after substituting z and x and canceling
y, we obtain the characteristic equation:

X = —

o * ﬁl*ﬁS* / 711
A+u+oa) = BS — ey e y(t dt
—I/ y(7)r* /y (z= YdsdT—i—/ y(T)r*(t)dz.
0

(13.35)

Integrating the double integral by parts, thinking of Iy(7)e ™! I 7(0)do a5 4/ and the
rest as v, we can obtain the following simplified characteristic equation:

BS(A +u)
A+Brr+pu  Jo

+(A+u) /0 ) /0 Ty(s)e*“’*”dsdr. (13.36)

This characteristic equation does not always have only roots with negative real
parts. One can pose additional conditions that would imply stability. However, here
we would like to show that instability and oscillations may occur in this model.
To show this, we need to exhibit a specific example in which Hopf bifurcation can
occur and sustained oscillations are possible. To demonstrate this, we consider the
following special case:

Atpta= ) (D)e M dn
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Assumption: Assume

(1) = {g (;i;SA’ (13.37)

where A is an arbitrary constant. This form of y(7) suggests that recovered individu-
als are completely protected for a period of time A and then completely susceptible
again. This is a reasonable assumption in influenza modeling. With this y(7), the
recovered individuals are given by the following expression:

[ b <1<A
r*(r)z{a ¢ Osts<4, (13.38)

alfe MBI (1-4) T>A.

When the class-age structured function is a step function, the class-age model
becomes equivalent to a delay model. As a result, the characteristic equation (13.36)
can be significantly simplified. We compute the integrals:

/w y(1)r*(1)e * T dt = apI* /me*’”e*ﬁ’*(’*")e*“dr
0 A

afl*  iwa
= . 13.39
A+u+pre (13.39)

Given the value of the integral above with A = 0, the equation for the equilibria
becomes
apr
P e
u+Brr

Recalling that $* = A /(BI* + 1), we can solve the resulting equation for 7* to obtain

BS* + M= (u+a). (13.40)

PA —u(u+a)
B(u+ o+ ae H4)

I = (13.41)

The double integral in (13.36) can also be computed:

o T o T
/ r*(T)/ y(s)e M) dsdt :/ r*(T)/ ¥(s)e " dsdr
0 0 A A

=Bor* T T BI(1A) / "9 gsdr
A

aBI* ﬁI*A oo y
Bie / e*lﬂ'e*ﬁl ref)kr(e/lr _ eAA)dT

A pra’ A
* o0
= 706[31 ¢ e Mo BTy

A A
_ aBI*é’il Avaa me—ure—ﬁl*re—lrdr
aflfe 4 (xﬁf}*e’”A
T Au+Br) AA+u+pr)
afrreH4
(H+BI)(A+p+pBr)

(13.42)
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Using the equation for the equilibria (13.40), the characteristic equation (13.36) can
be simplified as follows:

BS*(A+pu) apreAtwA aBI(A+p)e H4

l =
THto A+Brr+u  A+Br+u  (A+Br+uwu)(frr+u)

. (13.43)

Collecting terms gives us

afle A

A+p+a)A+BI +u)=(A+u) [ﬂS“r U+ B

} +afrre A

(13.44)
Using (13.40) and simplifying, we obtain

A+u+a)A+Br+u)—(A+u)(o+u) = aple” A, (13.45)

Hence, the characteristic equation simplifies to the following transcendental equation:

A2+ (BI* + p)A +BI (U + o) = oI e ATHA, (13.46)

Let A = & 4+ in. We can use the methodology first introduced in Chap.4 to find
eigenvalues with positive real part. We separate the real and the imaginary part in
the equation above. We obtain the following system:

E2 =+ (Br+ )&+ Br'(u+ o) = apre S+ cosnA, (13.47)
26n + (BI* +u)n = —afrre ETWAsinnA. ‘

To find parameters that will give us oscillations, we proceed in the following way.
We notice that the system above is linear in $7* and o31*. Hence, we can solve for
these parameters. That cannot be done by hand, but a computer algebra system such
as Mathematica can do it. The expressions we obtain are rather large, and we will
not include them here. We view BI* = f(n) and ofI* = g(n). We plot paramet-
rically the points (f(1),g(n)) in the (BI*, oI*)-plane. We obtain the left figure
in Fig. 13.3. Before plotting, we fix the other parameters as follows. Since the cur-
rent worldwide lifespan of humans is 70 years, we define yt = 1/(70 % 365) days .
The worldwide human population is 7 billion. So we compute A = 1000/365 births
per day (in units of 10°). In this way, at equilibrium, where the population is A/,
we would have 70,000 individuals (in units 10° ), that is, 7 billion individuals. We
will compute the infectious period so that oscillations occur. We take A = 30 days.
That is, prior exposure to influenza protects a person completely for 30 days, after
which one becomes completely susceptible again. That value for A will give too
small a period of oscillations for influenza. If we want a more realistic period, we
need to take A = 365. We fix £ = 0.01. From the left figure of Fig. 13.3, we see that
for some 7n’s, the point in the (BI*, oI*)-plane is in the positive quadrant. Hence,
it gives a viable point. We guess a value of 1 that gives positive SI* = f(n) and
ofI* = g(n). In the simulations, we took n = 0.19. That gives SI* = 0.172187
and oT* = 0.0896313. Dividing the second of these numbers by the first, we get
a = 0.520548, which gives an infectious period of less than two days. We determine
B from the formula for 7*:
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I = W — £(0.19) = 0.172187.

This gives B = 0.0000482876. To observe the principal eigenvalue, we plot the
equations in system (13.47) as contour plots in the (&,1n)-plane. The eigenvalues
of Eq. (13.46) are given from the intersection of the two types of level curves. The
right-hand picture of Figure 13.3 shows that Eq. (13.46) exhibits Hopf bifurcation
and has a principal eigenvalue with positive real part.

To illustrate the oscillations, one needs to simulate the solution of system (13.23).
As an integrodifferential PDE system with nonlocal boundary condition, the system
cannot be automatically solved by a computer algebra system such as Matlab of
Mathematica. A numerical method needs to be built for system (13.23) and coded
in Matlab, Fortran, or C. In the next subsection, we discuss how to discretize the
system.

13.3.3 Numerical Method for the Time-Since-Recovery Model

In this section, we build a numerical method and code model (13.23). The numerical
method is a finite difference method that discretizes both the age and time variables
and computes the solution at a number of points that form a mesh.

As a first step, we need to discretize the domain of the system (13.23). Recall
that the domain is given by

apl’
1.5¢
1of
0.5f
0.0 \ . 3
0.0 BI" —0.10 -0.05 0.00 0.05 0.10
0.0 0.2 0.4 0.6 0.8 &

Fig. 13.3 The left figure gives the parametric plot in the (31*, o3I*)-plane. The right figure shows
the level curves of system (13.47). The level curves of the first equation are given by a continuous
curve, and the level curves of the second equation are given in dashed curves. The eigenvalues are
given by the intersection of continuous and dashed curves. The principal eigenvalue is the one that
is farthest to the right. The figure indicates it with a point. The principal eigenvalue has & = 0.01,
as set in the computation (see text)
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2 ={(t,t): 1> 0,t > 0}.

The domain & is an infinite domain. We cannot compute with infinite domains, so
we have to truncate it in both the age and time directions. We will consider the finite
domain

2 ={(1,1):0<1<G,0<t<T}.

What is a sensible way to choose G so that when we truncate the infinite integral
in the boundary condition, we do not make too much of an error? One way is to
choose G large enough that ¢ ¢ is almost zero. Since the solutions decay with
e M7, computing in 7 until this exponent becomes zero, at least in a computational
sense, will guarantee that the error of replacing the infinite integral with a finite one
will not modify the solution too much.

To discretize, we take the points along the age direction equally spaced with a
step AT: T, = kAT. Since both age and time progress simultaneously, we discretize
the time with same step At = A7. The points in the time direction are given by
t, = nAt. These points discretize the domain & with a discrete square mesh. We
define the number of steps made in each direction as

G T
K=|— N=|—
&) 5]
where [] denotes the integer part of the expression. We may modify G and T a little
so that without loss of generality, we may assume that

G = KAt, T = NAt.

To discretize the time-since-recovery model (13.23), we assume S(t,) ~ S",
(T tn) = 17, I(t,) = I". We first discretize the equation for the susceptibles, which
is a first-order ODE. We can use a backward difference to replace the time deriva-
tive. Thus, we evaluate the equation at time level #,;| and apply a backward finite
difference for the time derivative. We obtain

Sn+l _ Sn

T :A_ﬁSn+lln+1_“Sn+l.

From here, we should be able to compute s+l knowing the values at the nth time
level. However, as the equation stands now, this is not possible, because we do
not know I"*!. To simplify the computations, we “linearize” the nonlinear term
and evaluate [ at time level n rather than time level n + 1. This is legitimate in
numerical methods, since I" and I"*! are close, and so their values should be close.
The equation above becomes

Sn+1 —sn

= :Aiﬁsn-ﬁ-llniusn+1'
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Now we can use this equation to compute $"*! from values at level n. Since the
equation for / contains both S and r as well as I, we compute that last. Next we
discretize the PDE. We evaluate it at ¢, and 7. We have

re(Testug1) + 11T tus1) = = YO (1) 7 ( Tyt 1) — L ( Ty 1)

We replace the derivative in T with a forward difference and the derivative in time
with a backward difference. We obtain the following difference equation:

Al Pl
k+1 Tk k k _ +1 n+1 +1
A AL “UT

The left-hand side can be simplified by canceling the two r,':“ terms. The right-

hand side contains r,'(’“, while the left-hand side contains only r}(’ill and ;. It makes
sense to replace r{(‘“ on the right-hand side with one of the two on the left. The
better choice is to replace them with r,'(’jll This makes the method “implicit,” that
is, the right-hand side depends on the time level that we are computing. We need to
solve the equation for rJ,ZLl but that is not difficult, since the equation is linear in r.
As with the S equation, we “linearize” the nonlinear term by computing / at time
level n rather than time level n+ 1. The discretization of the PDE becomes
it

Y :_,yklnrnJrl ‘u,.nJrl

k+1 7 Pkl
This equation can be solved easily for rﬁfll It gives a formula for the computation
of the next value of r along the characteristic line:

rn+l — ’J/Z )
U 4 pdn At + pAt

From the boundary condition, we have

r6l+1 e I"+1.

Here we do not “linearize” at the previous level. This means that we cannot compute
the boundary condition until we have computed 1. The reason we do not linearize
here is that the o/ in the equation for / will be computed at level n 4+ 1, so that the
method is implicit, but the two terms have to cancel each other if we are to obtain
the equation for the total population size. We may use the right-endpoint rule to
compute the integral in the equation for /. In this way, we may avoid using the
boundary condition for r in the equation for /. We compute the equation for / at time
level n+ 1, discretize the derivative with a backward difference, and the integral with
a right-endpoint rule sum:

In+l _n

K
Y _ ﬁSﬂ+11n+1 +1n+1 z ’}/kFZ+IAt _ (,Ll + OC)I"+1.

k=1
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We replace I"*! with I in the terms with S and r so that they agree with the corre-
sponding terms in the equations for S and r. We obtain

In+1 _m

K
o :ﬁsn_HInJrlnZYer+1At*(u+a)1n+l.

k=1

In this way, we can compute I"*! before we compute the boundary condition for
r. In case we want to use a different rule for the integral, such as the trapezoidal
rule, we have to solve a system of equations to find the solution at time level n+ 1.
With this scheme, the computation is performed time level after time level. To begin
the computation, we initialize all variables with the initial conditions that give the
values at time level zero:

=8y °=5, R=¢ ,k=0,..K

We summarize the numerical method below:

AAt+S"
gl = AALES n=0,....N—1,
1+ BI"At + uAt

+1 K +1
In+1:1”+ﬁAtS" I"+T"At Y vy At n=0.. N—1,

1+ oAt + uAt

],.n
il _k k=0,...,Kk—1, (13.48)
L oy dn At + p At T ’
n=0,....N—1,

s0=35,
=
V;?:(Pk k=0,...,K.

The numerical method in (13.48) is given by a difference scheme. It can be shown
(but we will not do so here) that the solutions of the difference scheme converge to
the solution of the continuous problem (13.23) with the same speed as CAf con-
verges to zero as At converges to zero. Here C is an appropriate constant. In this
case, we say that the method has convergence rate €'(At). The method (13.48)
has other important strengths. In particular, its solutions are always nonnegative
for every value of the step At. Finally, it is easy to code and has relatively low
computational complexity (number of operations). An appropriate size of the step
for running this method is A = 0.01. Smaller step sizes are also appropriate, but
one has to keep in mind that as the step size decreases, the time needed to perform
the computation increases. We ran the method with the parameters estimated in the
previous subsections. The number of infected individuals, which exhibits sustained
oscillations, is plotted in Fig. 13.4.

Acknowledgements The author thanks Necibe Tuncer for her help with the Matlab code and
checking.
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1(t)

90000 90200 90400 90600 90800 91000

Fig. 13.4 Oscillations in the number of infected individuals I(r)

Appendix

In this appendix we include the Matlab code that executes the numerical method in
the section.

function [S, I] = sir3(M,N,dt)

G = dtxM;

Lambda = 1000/365;
mu = 1/(70%365);

1o alpha = 0.520548;

1 beta = 0.0000482876;

1
2
3
4
s T = dtxN;
6
7
8
9

3 S zeros (N, 1) ;
4 I = zeros(N,1);
15 rold = zeros(N,1);
16 rnew = zeros(N,1);

18 S(1) 7000;
v I(1) = 30000;

20 for 1 = 1:M
2 rold (i) = 10;
23 end

5 t = 0:dt:T;
% ttau = 0:dt:G;
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for

end

n = 1:N

S(n+l) =

Int = 0.

for i =

tau

if t

end

rnew (i+

13 Class-Age Structured Epidemic Models

(Lambda*dt+S (n)) / (1+betaxI (n) *dt + muxdt) ;
0;
1:M
= ixdt;

au < 30

1) = rold(i)/(1 + gxbetaxI(n)*dt + muxdt) ;

Int = Int + gxrnew(i+1) xdt;

end

I(n+l) =
I(n)

rnew (1)

for i =

(I(n) + betaxS(n+1)xI(n)x*dt +
x*dtxbetaxInt) /(1 + (mu + alpha)xdt);

= alphax*I(n+l);

1:M

rold (i) = rnew(i);

end

plot(t, I, '
x1im([90000,91000])

end

-r')
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Problems

13.1. Consider the SIR model with age-of-infection (13.4). Assume that the trans-
mission rate and the recovery rate are given by the following functions:

(13.49)

m={ %)

Y T>A

and B(1) = Brel®

(a) Compute the probability of survival in the infectious class: 7(7) = e H%e™ Jo v(s)ds
(b) Compute the reproduction number in terms of k and A.
(c) Compute the endemic equilibrium in terms of k and A.

13.2. Backward Bifurcation in the Time-Since-Recovery Model
Consider Eq. (13.27) with y(7) = v, a constant.

(a) Show that if ¥ < 8 and %, > 1, the equation (13.27) has a unique nonzero
solution. Furthermore, show that if y < 8 and % < 1, the equation (13.27) has
no solutions.

(b) Show that if y > B and %, < 1, the equation (13.27) may have two solutions.

(c) For ¢ = 0.05, u = 1/(365%70), B = 0.021, and y = 0.025, use a computer
algebra system to draw the backward bifurcation diagram of I* with respect
to %y.

13.3. Consider the model with time-since-recovery (13.23). Show that if Z < 1, the
disease-free equilibrium is locally asymptotically stable. Furthermore, show that if
Py > 1, the disease-free equilibrium is unstable.

13.4. HIV/AIDS Model
Consider the following model of HIV:

S'(1) ——t/ﬁ i(T,1)dT— uS(t),

t

iT(T t)+lt(§at) = }/( ) ( ) [.Li(T,l‘), (13.50)
S(t

t)/:ﬁ i(t,1)dr,

where S(¢) are the susceptible individuals, i(7,?) is the density of the infected indi-
viduals, N(¢) is the total population size. We have to use standard incidence in HIV
models. (Why?)

(a) Compute Z, and the disease-free equilibrium. Show that if % < 1, the disease-
free equilibrium is locally stable and that otherwise, it is unstable.

(b) Compute the endemic equilibrium.

(c) Derive the characteristic equation of the endemic equilibrium.

(d) Take B(7) = e 7. Is the endemic equilibrium stable or unstable in this case?
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13.5. HIV/AIDS Model
Consider the following model of HIV:

S'(1) A——t/ B(1)i(z,1)dT — uS(t),
ir(T,t) +ir(T,1) = —¥(T )( 1) — pi(t,t), (13.51)

t)
i(0,1) S /[3 i(t,1)dr,

where S(t) are the susceptible individuals, i(7,7) is the density of the infected indi-
viduals, N(¢) is the total population size. Assume

B(7) =1e ",

(a) Compute Z, and the disease-free equilibrium.

(b) Compute the endemic equilibrium.

(c) Derive the characteristic equation of the endemic equilibrium.

(d) Is the endemic equilibrium stable or can it become unstable in this case?

13.6. HIV/AIDS Model
Consider the following model of HIV:

S0 =A- S’(”) [ @itz -uso),

N(t
( 1) +i(t,t) = y( )i(T,t) — ui(t,t), (13.52)
St)/ B(v)i(t,r)dr,

where S(z) are the susceptible individuals, i(7,7) is the density of the infected indi-
viduals, N() is the total population size.

(a) Derive a numerical method for model (13.52).

(b) Write a Matlab code to simulate the method. How do you know whether your
code computes correctly? Compare the equilibrium computed by the code with
the one that you computed in Problem 13.5.

13.7. Time-Since-Vaccination Model
Many vaccines wane, and the waning depends on the time elapsed since the individ-
ual was vaccinated. Consider the following model with time-since-vaccination 7:

S'() = A — BS(I() — (1 + w)S +/w dr,

I'(t) = BS(0)I(t) — (u+ o),
ve v = —o(T)v(T,1) — uv(T,1),
v(0,t) = ol + S,

(13.53)
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where v(7,7) is the density of vaccinated individuals structured by the time-since-
vaccination 7, and V is the vaccination rate.

(a) Interpret all terms in the model. What is the assumed efficacy of the vaccine in
this model?

(b) Compute the reproduction number % (V).

(c) Compute the disease-free equilibrium. Show that if %y (y) < 1, the disease-free
equilibrium is locally asymptotically stable; otherwise, the disease-free equilib-
rium is unstable.

(d) Compute the endemic equilibrium.

13.8. Time-Since-Vaccination Model
Many vaccines wane, and the waning depends on the time elapsed since the individ-
ual was vaccinated. Consider the following model with time-since-vaccination 7:

S'() = A — BS(I() — (u+ w)S +/ o(T)v(t,1)dx,
7(6) = BSOI(1) — (1 + o)1

Vet = —o(t)v(r,1) — u(T,1),
v(0,t) = ol + S,

(13.54)

where v(7,t) is the density of vaccinated individuals structured by the time-since-
vaccination 7, and v is the vaccination rate.

(a) Write a numerical method for the model above. Show that your numerical
method preserves the positivity of solutions.

(b) Write a Matlab code to simulate the model. How do you know whether your
code computes correctly? Compare the equilibrium computed by the code with
the one that you computed in Problem 13.7.

13.9. Time-Since-Infection Model of Vector-Borne Disease
Consider the following model of a vector-borne disease, structured by time-since-
infection T:

= _S/ﬂH Tth UySy,
S/ ﬂH T t dT Mol
Sy =An— ﬂvSHlv UeSw,
i +ip = — (o (T) + pn )i(7,1),
i(O,l) :ﬁvSHIW

Ry = | ow(i(w.de— .
0

(13.55)

where S,, I, are the susceptible and infected vectors, Sy, i(7,7), and Ry are the
susceptible, infected, and recovered humans.
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(a) Compute the reproduction number Z.

(b) Compute the disease-free equilibrium. Show that if %y < 1, the disease-free
equilibrium is locally asymptotically stable; otherwise, it is unstable.

(c) Compute the endemic equilibrium.

(d) Derive the characteristic equation of the endemic equilibrium. Can you show
local stability of the endemic equilibrium?
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